|
AAVBZ &

© 2 =3
o 8 : EYm
o GREADOMIE
o IREER

ERORHOHSMS DB 5 @ YT



BB &TE

2 R EAW

78 &¥m

(B2 1 THEK y = f(o) OB R

fla+h

f(a) :
. . / 1 T f(a+h)7f(a)
T fila) = Jim, AP O = iy T

(0] aaq-+h

BRORHORSMES DB 5 @ R



B8 EYE

2 B

&8 : ETE

(88 : 2 ZTHEH 2 = f(z,y) D u HABIHEE]
A(a,b) BTER, ©w & KES 1 ORI ML, AP =su &
T3, u AEIC A RmRE LTEEMAB & 5 &
P DEZEEMR2,

HEMAHRE = lim DIEE
P—A

P o F(P) = (A)
g s—0 S
A
flz,y) DPEGMIATEERSIETRTOABAICHBEHS
ABET
b FAABARE = v, fo(a,b) + usfy(a,b)
==L

BRORHORSMES DB 5 @ R



AREBROME

2 B

BRSO E

2 EHREBOEHRER DM E
(i) z2=g(t)HAATHE, ¢ = f(z,y) WD ATRE
= AREH 2 = g(f(z,y)) HR/BDITEET

Zx = luZt, Ty = lyzt /
\_ Yy

FTICAEEE>TWS,
[Bl] z=sin(zy) DEE zy=1 EBVT

Zp = zity = (sint)i(xy), = cost -y = ycos(zy)

BRORHORSMES DB 5 @ i, 5, 1

4/10



AREBROME

2 B

BRSO E

2 EHEBOERRBOMDE ()
(i) z= f(z,y) : WHDTEED D IRERIEA ERE,

r=(t), y=v() : MITHE / z
N

= BB 2 = f(pt), () HWMIETEET ¢
2 = _|_ e (**) y

(iii) 2 = f(x,y) DMEHD ATRED D IR E R A Ei,
v = pu,0), y = wlu) - HATE
= GREH 2 = f(p(u,v),¥(u,v)) HR/HBDATEET

{zu = TuZz + YuZy Yu

BRORHORSMES DB 5 @ i, 5, 1

5/10



AREBROME

2 R EAW

BRSO E

[(ii) DL D]
tNNALREFERTREE 2,y,2 &

Az = p(t + At) — o(t)
Ay =t + At) — ()
Az = f(z + Az,y + Ay) — f(z,y)

IIZELT 3. T T Lagrange DFEHBEDER ZFE > THRAM S & AKOEHR%Z
T3,

Az = (fla+ v,y + Ay) = f(o,y+ Ay) + (Fla.y + Ay) = f(@,))

0<b; <1, 0<by<1

ERRBE O, 0 BB,

BRORHORSMES DB 5 @ TG G



2 R E
BREBOWDE
[(il) DFENSD (FEZ)]
ZOmB%E At TEI>T At 0&9 3L
Ax dx Ay  dy

- — =

At dt At ar o
fo(x + 0142,y + Ay) = folx,y) = 20, fy(z,y+6024y) = fy(x,y) = 2y

ERBDT

Az

Zt — (*‘k) @Eﬂl

NohHs.

BRORHORSMES DB 5 @ R



2 ZEHRAEK

TEDOBEE
~ FEOIBEE )
P
y o[ : P DBERER : (z,y)
r .
P OWBEELE : (r,0)
0
(@) xT

BRORHORSMES DB 5 @ R



B EEAR

2 B

S TE DR EEE
B BEXEZCIGEZDRER 201 ~
r =1rcost
P y = rsinfd
vyl T """ b
: T ox .
f ; 5—0059 ?——rsme
y Ay _
0 T 87"751119 20 rcosf
N Y

BRORHORSMES DB 5 @ TG D)



2 R PRI

2 B

T DB EEAR

.
Z

~ BEXRERCBERORE 202

N

xe_ x
BT E g EPD
. Y
y o[ sinf = ————
. /x2+y2
or - or
0 @d_ T cos ¥ sin 4
Ox /12 4 y2 oy /a2 +y?
o 00 -y  —sinf 00 x  cost
or x2+y2 r dy x2+y2 7
\
ERDEHOWSES D % 5 B 2022.5.16  10/10



	2変数関数
	復習：接平面
	合成関数の微分法
	極座標


